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Montana Landcover 2021 v1
Il 6003: Other Road 7085: Northwestern Great Plains Shrubland Il 7292: Open Water
6011: Western Cool Temperate Row Crop - Close Grown Crop 7125: Inter-Mountain Basins Big Sagebrush Steppe 7385: Great Plains Wooded Draw and Ravine Woodland
6012: Western Cool Temperate Pasture and Hayland 7141: Northwestern Great Plains Mixedgrass Prairie 7482: Great Plains Prairie Pothole
[ 6022: Northwestern Great Plains Riparian [N 7153: Inter-Mountain Basins Greasewood Flat 9023: Western Great Plains Badlands

7066: Inter-Mountain Basins Mat Saltbush Shrubland [ 7179: Northwestern Great Plains-Black Hills Ponderosa Pine Woodland and Savanna 9025: Western Great Plains Closed Depression Wetland



